© st mc(auk\‘? wid @ [Rfal=¢[R]: das &t w,c{j
zaum Rowel vou Lom. bk 7&;- Groppon.

© ker () = ks () Jou s
km(y} = §x+tore ¥ p(x)=0}
= §xt o € Rl 1 xe mec,ng V”C*P)/o(

¥

Plgeranq: Far o = Lwcf) erbalfen oir md
] R [p[R][ES N

" J/‘“—j ask Af CRIE[R /e o))
‘R/l(-er&f) ¢ L]D ‘ / f
Worl ottt lear (3) = lLeor (p) /leas( + SR YL
?Sau:» g(u v J{'rz) = 7 sqgelhy,
= {0
od aus P [R/las(p)] = p[RY folgd & & sl
alse =l G el lispeus. |
et | Ly ‘ -

Thaorem 10,6 (4. lsomorpliiosatz) |
Set R w’% SER el uvt‘err'u/ﬁ wil ot €R L ldeal.
l)aw« 2t St =fxt2: xeSA 2eod Q,u/l L‘M{emya
Vm?duorz.ls [dezl QV\\lM\LU-Wi»QS&L |
| S/Snot <.S+0()/0( | o/

e - St tgi Uukmyﬂ ‘vcm d || |
| (x+a) (y+b V,__JPKIOLMIJF\%JE }e.}

c<l [ € \e_c'( 6-40‘;

» O'Lg'- .S'(‘Ot ‘LS{‘EM IGLQ&(' L‘-w

| =TT | | ‘ y
- Refraclde S s Sta Z» St /cn

X > x40 1——> (x+0)+ot

ey S = LM@FL‘K& Vot | S+



v . |
<l | K N
I ) \ J
v LA -
. M 3 J
uv..u / 4 MM Z b PN
M = ¥ O
b AN
= < g N .,
- 5 X N—e
i 1 . N |
hltl N ] |
J 2 e =] AMV |
9 MV y HEY |
N SHEERE:EN
2N Nl R 9
wPL rM & N < = - w
CEN SarECRENE)
RES SN - VMRSV N
== Y m > N/ > xd
N CHa Nl .
g > m - = M O s w.\ <
Ml S S
K .w, @ .K Q < )
— 19 m il N | [X*
. iz )
Il C“ My o | [W/ S S %y r
N/ L/ ,uc m 9’ h v
_M; Al Ny 5
) 5 ~_J \/.\ ~
SNy f 5 . 5
= i 1 Wt + ¥ S WM
: g : e \ \/] /\_ A ///
S 5 8 - T T
—_I.rk Al @ < €
PT
|
|




* &+ %JL@MGM
( )+ O = +
‘,ﬂ(><+y) ( Xty )+ o {M)’f ((Z+6)+ o)

Gy T 00 top G
}p(x-y) = ‘(Cx 7)+C))+<n = M) ((7+6)+oc)
| (><+¢:>) (y+0) 7“") ' ‘7) |
| | iy |
L] | |
) [=] C)‘ ‘ = |1 |
o ( ‘) (440)tor = Lspa, mummn
lor(p) = fxe S xrbeai = fxesi xeal= Saa;
mE msmmm ~ Sna gba ldaal b

50[3] {)HOJ:CR X ¢ $§=Zx+a+an xeSAaem}

i ‘ ‘ ‘ 1 | | Mrgrdd Lt_ese(ﬁa@w /\/alawua&wvz
alse &4 <7D[$] = 5+m/qz \/Jw mbxzb«xm(.
\ | EEEEE

N |
| ‘S \V 5+o~¢/ - 7;[53 \

= mr&MmLﬂmms

5 /5o \
|~ | | ‘ |
- ‘ ce S/kﬂf@f’) SanaN %LK S/Sna I “‘C"/ox
EEEEE | | N ‘

- Theorem (6.7 (f warpw«a) Ex
(EMQ”— ’ ‘70 \og-u)zr Qﬁ&@mom

uwiqé"lgpw I\Wu%(- @) < \Es*\ |
', %ﬁﬁzg/ﬁgl

- ‘

Bespief: R = ZKZ S ZXEOE ot = BZX“Z;‘
: A R lw@o%{@zxz |

(x,\/) p=p- CK,O>

/



